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&5 X 4 ,(Er,na: ‘Fm;ﬁ(z)ﬂ)ﬁﬁ%ﬁ j@fﬁé X 4 Timﬁg%l;g;k:F r(:.—r,j jj(:')frf)é X 4 ,(Er::c; J:m;b(z)o)tt.s; jj(ﬁ?t;ié X 4 J:mf)(z)o)tt.s; .z.na; jj(ﬁ?tm%)é
7 100kN/m#z#Z5| 100|000 ~ 025 103.62 |3m&E#BZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1268 ~ 1375 103.62 |3mE#z% - ~ — — —
st 1.00 | 025 ~ 803 100.00 | =nst | 0.00 ~ 803\ 1.93 976 Thst 1.00 | 6.00 ~ 1268 100.00 | =hst | 6.00 ~ 1375| 1.93 9.76
2 100kN/m##82% | 1.00 | 000 ~ 181 127.86 |3mZ#BAB| — ~ — — — | 100kN/m%i#82% | 1.00 | 11.31 ~ 20.61 127.86 |3mZE#EZ 5 - ~ — — —
zhLst 1.00 | 1.81 ~ 960 100.00 | #hst | 0.00 ~ 9.60| 2.60 12.62 st 1.00 | 5.00 ~ 1131 100.00 | #ns | .00 ~ 2061 2.50 12.62
3 100kN/ Mz 25| 1.00 | 000 ~ 250 139.22 |3m&x#z3| — ~ — — — | 100kN/m%#8=2% | 1.00 | 10.72 ~ 2368| 139.22 |3m&E#Z5 - ~ — — —
st 1.00 | 250 ~ 1029 100.00 | L4t | 0.00 ~ 1029] 2.60 1313 Thlst 1.00 | 5.00 ~ 1072 100.00 | =hst | 6.00 ~ 2368| 2.60 13.13
4 100kN/m%x#8z5 | 1.00 | 000 ~ 1.72| 126.44 |3mE#Bz5| — ~ — — — | 100kN/m%#82% | 1.00 | 1097 ~ 1848| 126.44 |3m%E#BZ5 - ~ — — —
st 100|172 ~ 951 100.00 | =nLst | 0.00 ~ 951|223 11.27 st 1.00 | 6.00 ~ 1097 100.00 | =hst | 5.00 ~ 1848| 2.23 11.27
5 100kN/m##8x5 | 1.00 | 000 ~ 181 127.88 |3mZi#BAB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1086 ~ 1864 127.88 |3mE#z3 - ~ — — —
Lt 1.00 | 1.81 ~ 9.60 100.00 | =nst | 0.00 ~ 9.60 | 2.25 11.36 Thst 1.00 | 5.00 ~ 1086 100.00 | =5 | 6.00 ~ 1864)| 2.25 11.56
P 100kN/m%z#8z5 | 1.00 | 000 ~ 069 110.30 |3mE#Bz5B| — ~ — — — | 100kN/m%E#8z2% | 1.00 | 1086 ~ 1310 110.30 |3m%E#BZ% - ~ — — —
ZhLst 1.00 | 069 ~ 848 100.00 | Fnhst | 0.00 ~ 848 2.07 10.46 st 1.00 | 6.00 ~ 1086 100.00 | =nst | .00 ~ 1310) 2.07 10.46
- 100kN/m%#825% | 1.00 | 000 ~ 0.07| 10097 |3mEB2B| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 11.45 ~ 11.67| 100.97 |3mE#Bz% - ~ — — —
ThnLst 1.00 | 007 ~ 7.85 100.00 | #nList | 000 ~ 7.85| 2.00 10.12 Fhst 1.00 | 6.00 ~ 11.45| 100.00 | TR | 65,00 ~ 11.67| 2.00 10.12
P 100kN/m%#825 | 1.00 | 000 ~ 0.64 109.47 |3mZEi#BASH| — ~ — — — | 100kN/m%E#8Z25 | 1.00 | 11.46 ~ 1382 109.47 |3mE#Bz2% - ~ — — —
ThLlst 100|064 ~ 842| 100.00| ThiH | 000 ~ 842 2.00 10.12 TnLst 1.00 ) 500 ~ 1146 100.00 | ThLS | 500 ~ 1382 2.00 10.12
9 100kN/m%#82% | 1.00 | 000 ~ 0.64 109.50 |3mZ#BAD| — ~ — — — | 100kN/mM%E#z25 | 1.00 | 11.45 ~ 1382 109.50 |3m%E#Bz% - ~ — — —
ThLlst 100|064 ~ 842| 100.00| This | 000 ~ 842 2.00 10.12 TnLst 100 5600 ~ 1145 100.00 | ThLS | 500 ~ 1382 2.00 10.12
10 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.o0 ~ 597 74.80 | Ths | 0oo ~ 000 | 1.567 7.91 Fhst 1.00 | 6.00 ~ 7.50 74.80 | EnLS | 6.00 ~ 760 1.67 7.91
11 100kN/ MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%E{BA B - ~ — — —
st 1.00 | 0.00 ~ 687 87.01 | =nLs | 000 ~ 0.00) 1.59 8.05 Fhst 1.00 | 6.00 ~ 927 87.01 | #hst | 6,00 ~ 9.27| 1.69 8.05
100kN/MZ#2Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Thsn ~ Thsn ~ ZznLst ~ ZFnLst ~
100kN/ MZ#2Z % ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
Thsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ znLst ~ ZznLst ~
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~




